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EXPRESSIONS: Simplify, factor, evaluate, expand, condense or perform the indicated operation.
1) 3(logx+logy)—4log(x—2) 2) 3x*-2x"-8
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m~c>ﬂ.—02m Solve the following equations. Round answers to the nearest tenth when necessary.
: 12) X +5%° +4x+4=x*+3

11)  2=log,(x-3)+log,(x+5)
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GRAPHING: Graph the following functions.
19) f(x)=—x"+4x+3 200  f(x)=2(x+1)"-3

(27

y-ind " (0,3)

21)  g(x) lew:?+5m Tﬂ+m% 22)  g(x)=-x"-2x"+8x
&= fv&Xﬁ;&.le g
O > ~x(x +u)(x- )

23)  f(x)=-ln(x+1)-2 24)  g(x)=2""-3
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WRITING: Write a function S.S: the given characteristics.
25) A ?:mcoum with pts. Am -3), a mv and G nﬁm 26) A parabola with x-intercepts -5 and 2, and y-

V= ax Yebxec intercept at -10.
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Louis wants to fence in a rectangular field for his pet chinchilla using 400 yards of fencing he has stored
in his shed. On one side is a brick wall that will not be fenced in.
29) Write a quadratic function ammongzm Ew area. 30) Find the dimensions of the enclosure.
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